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P 100kN/mM%#BZ. 5 — - ~ — —|3mZEEBZB| — ~ — — — | 100kN/mi%#B 2% — - ~ — —|3mEx#EZSB - ~ — — —
FhLst 1.00 | 0.00 ~ 452 56.39 | =nLs | 0.oo ~ 000\ 1.567 7.91 st 1.00 | 6.00 ~ 5.00 56.39 | =nLs | 5,00 ~ 500 1.57 7.91
2 100kN/m%E#B25 | 1.00| 000 ~ 0.17| 10245 |3mEB25| — ~ — — —| 100kN/mi%#825 | .00 | 1269 ~ 1340 10245 |3mE#BZ% - ~ — - —
FhLst 1.00 1017 ~ 795 100.00 | #hsy 000 ~ 7.95| 1.93 9.76 st 1.00 | 6.00 ~ 1269 100.00 | #hst | 6.00 ~ 1340 1.93 9.76
3 100kN/m%x#25| 1.00| 000 ~ 089\ 11350 |3mZz#BZB| — ~ — — —| 100kN/mi%#825 | .00 | 1094 ~ 1400 11330 |3mE#BZ3 - ~ — - —
FhLst 1.00 1089 ~ 867 100.00 | #hst | 000 ~ 867| 2.06 10.40 st 1.00 | 6.00 ~ 1094 100.00 | =hst | 65,00 ~ 1400| 2.06 10.40
4 100kN/m%z#25| 100|000 ~ 012| 10174 |3m&E#Bz2E| — ~ — — —| 100kN/m%&#25 | 1.00 | 1053 ~ 1084 10174 |3mEBZ% - ~ — — —
s 1.00 | 012 ~ 7.90 100.00 | =nLst | 0oo ~ 790|219 11.07 ThList 1.00 | 5.00 ~ 1053 100.00 | =nhst | 6.00 ~ 1084 219 11.07
5 100kN/mM%#BZ. 5 — - ~ — —|3mZEEBZB| — ~ — — — | 100kN/mi%#B 2% — - ~ — —|3mEx#Z5 - ~ — — —
s 1.00 | 0.00 ~ 7.45 9521 | #nS | 000 ~ 7.45| 1.99 10.07 ThList 1.00 | 5.00 ~ 1056 95.21 | =nS | 5,00 ~ 1056 1.99 10.07
P 100kN/m%E#25| 100|000 ~ 057 10853 |3mx#Bz2E| — ~ — — —| 100kN/miZ#825 | .00 | 1061 ~ 1230 10853 |3mE#z2% - ~ — — —
Thilst 1001057 ~ 836 100.00| Fnbst | 000 ~ 836|213 10.74 Thilst 1.00 | 5.00 ~ 1061 100.00 | =hst | 5.00 ~ 1250| 2.13 10.74
7 100kN/ Mm% 25 - - ~ — —|[3mZEERBH| — ~ — — — | 100kN/ Mm%z 5 - - ~ — —|3m%Ei#BZ B - ~ — - —
FhLst 1.00 | 0.00 ~ 7.69 98.65 | =nst | ooo ~ 769|202 10.22 zhLst 1.00 | 6.00 ~ 1095 98.65 | =nS | 5,00 ~ 1095| 2.02 10.22
P 100kN/m%E#25 | 1.00| 000 ~ 019 10274 |3mZEBZB| — ~ — — —| 100kN/m%#825 | .00 | 10565 ~ 11.05| 10274 |3mE#Bz% - ~ — - —
FhLst 1.00 019 ~ 797 100.00 | #hst | 000 ~ 797|216 10.90 FhLst 1.00 | 6.00 ~ 1055 100.00 | =hst | 6,00 ~ 1105|216 10.90
9 100kN/m%#8z5 | 1.00 | 000 ~ 080 111.99 |3mZz#Bz3| — ~ — — —| 100kN/m%E#25 | 1.00 | 1078 ~ 1310 111.99 |3m%EiBZ% - ~ — — —
s 1.00 | 0.80 ~ 859 100.00 | =nLsy | 000 ~ 859|230 11.64 s 1.00 | 5.00 ~ 10.78 100.00 | =nst | 6.00 ~ 1310 230 11.64
10 100kN/m%E#8z% | 1.00 | 000 ~ 022 10329 |3mZz#Bz3| — ~ — — —| 100kN/M%&#B25 | 1.00 | 1065 ~ 11.24| 10329 |3mE#BZ% - ~ — — —
s 1.00 | 022 ~ 801 100.00 | =nSy | 000 ~ 801|227 11.46 s 1.00 | 5.00 ~ 1065 100.00 | =nhst | 6,00 ~ 1124|227 11.46
11 100kN/mM%{BZ. 5 — - ~ — —|3mZEEBZB| — ~ — — — | 100kN/mi%#B 2% — - ~ — —|3mEx#EZ5 - ~ — — —
Thilst 1.00 | 000 ~ 745 95.13 | Fhst | 000 ~ 745|235 11.86 FhLst 1.00 | 6,00 ~ 1015 95.13 | Fhst | 6,00 ~ 1015]| 235 11.86
19 100kN/ Mm% 25 - - ~ — —|[3mZEERBH| — ~ — — — | 100kN/ Mm%z 5 - - ~ — —|3m%E#BZ B - ~ — - —
FhLst 1.00 | 0.00 ~ 5.88 73.65 | TN | 000 ~ 588| 2.00 10.13 ThLst 1.00 | 6.00 ~ 7.59 73.66 | TnS | .00 ~ 759 | 2.00 10.13
13 100kN/ Mm% 25 - - ~ — —|[3mZEERBH| — ~ — — — | 100kN/ Mm%z 5 - - ~ — —|3m%E#BZ B - ~ — - —
FhLst 1.00 | 0.00 ~ 395 49.49 | =nst | 000 ~ 395 2.09 10.66 ThLst 1.00 | 6.00 ~ 5.00 49.49 | Fhst | 5,00 ~ 6.00)| 2.09 10.66
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhLst ~ LSt ~ zhLst ~ zhLst ~




